Surds
1  Write V48 in the form k3, where k is an integer.

2 Write V50 in the form kv 2 , where £ is an integer.

3  Write 5V27 in the form kv 3 , where £ is an integer.

4  Write 7V20 in the form kV 5 , where & is an integer.

5  Expand and Simplify (2+ V3 )2 - 3)
6  Write (3 +V5 )% in the form a + bV5 , where @ and b are integers.

7  Expand and Simplify (2++5)(1 - +5)
8  Write (3 -2 ) in the form a + bV2 , where a and b are integers.

9  Expand and Simplify 2+V3 ) —(2-V3)’

10 Rationalise the denominator 6

V3

11 Rationalise the denominator —*_

Vx
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Rationalise the denominator L+45

V2
Simplify G %6 )
. (4+2V3)(4-2v3)
Simplify fully NI

Show that S+2V3 can be written as 4 — /3
2443

Show that 3;/3_.'-33 can be written as \ 3
+

Show that I can be written as Q
V2
Show that 1 2 can be writtenas 3 — /3

V3

Simplify fully (ya+ b )(yJa—+b)

Simplify fully (2a + /b )’



